
 
1.051
26.70  

 
0.

43
3

11
 

 
0.

15
9

4
 

 
5.315
135  

 
1.

38 35
 

 
0.787

20  

 
4.921
125  

 
0.787

20  

 
1.

77
4

45
 

All dimensions:
mm [inch]

-

Prüfmasse
Test dimensions

DIR:

Material Master

Surface

Material

Change Date
Changed by

Part Name

Designed

Approved

Scale

Page

10003209311

PN-30796

UMO

JSA

29.06.2017

29.06.2017

-

POC Replacement Mounting Kit

-

-

Standard tolerance

-

-

1:2 DIN A3

1/4

Checked

HAR 29.06.2017

Review processColour
-

Vers.:

00

Confidential and proprietary information. This document contains confidential and proprietary information of Rockwell Automation, inc. 
and maynot be used, copied or disclosed to others, except with the authorized written permission of Rockwell Automation, inc.

R Teile müssen der 
Rockwell Spezifikation
970-20-01entsprechen.
R Parts must confirm to

Rockwell environmental
specification 970-20-01.

CTQ Classification table

Change No.

P =Performance, 
F =Fit, 
A =Assembly
R =Strict conformance

Release No.

106 502
Part No.



 
1.

40
6

35
.7

0
 

 
2.953

75  

Artwork over packaging label:

RevisionSeriesDescriptioin

Catalog No

SAP No (MM)

EAN / UPC

Country of origin

Plant/
vendor code

Date code: YYWW

All dimensions:
mm [inch]

-

Prüfmasse
Test dimensions

DIR:

Material Master

Surface

Material

Change Date
Changed by

Part Name

Designed

Approved

Scale

Page

10003209311

PN-30796

UMO

JSA

29.06.2017

29.06.2017

-

POC Replacement Mounting Kit

-

-

Standard tolerance

-

-

2:1 DIN A3

2/4

Checked

HAR 29.06.2017

Review processColour
-

Vers.:

00

Confidential and proprietary information. This document contains confidential and proprietary information of Rockwell Automation, inc. 
and maynot be used, copied or disclosed to others, except with the authorized written permission of Rockwell Automation, inc.

R Teile müssen der 
Rockwell Spezifikation
970-20-01entsprechen.
R Parts must confirm to

Rockwell environmental
specification 970-20-01.

CTQ Classification table

Change No.

P =Performance, 
F =Fit, 
A =Assembly
R =Strict conformance

Release No.

106 502
Part No.



1.

2.

3.

4.

5.

6.

7.

8.

Packaging:

10.

11.

9.

12.

 2x 102740 Mounting plate, Safe4 1.
 4x 102356 Clamp processed2.
 2x 300388 M6x40 Socket head cap screw, fully threaded3.
 4x 301442 M 4x12 Socket pan head screw4.
 2x 300393 M6 Hex nut (0.8D), ID5246935.
 2x 301870 M6/6.1x14 RIP-LOCK washer6.
 4x 102733 Spherical disc convex M6 DIN 6319 C7.
 4x 102734 Spherical disc concave M6 DIN 6319 D8.
 1x 102741 Mounting instruction Safe4 Vertikal (CEDES)9.

10.     1x 300501 Mini-Grip-bag 90x110mm
11.     1x 300549 Plastic-Bag_160x220mm
12.     1x label 75x35.7, paper, white

Packaging content:

-

Prüfmasse
Test dimensions

DIR:

Material Master

Surface

Material

Change Date
Changed by

Part Name

Designed

Approved

Scale

Page

10003209311

PN-30796

UMO

JSA

29.06.2017

29.06.2017

-

POC Replacement Mounting Kit

-

-

Standard tolerance

-

-

1:2 DIN A4

3/4

Checked

HAR 29.06.2017

Review processColour
-

Vers.:

00

Confidential and proprietary information. This document contains confidential and proprietary information of Rockwell Automation, inc. 
and maynot be used, copied or disclosed to others, except with the authorized written permission of Rockwell Automation, inc.

R Teile müssen der 
Rockwell Spezifikation
970-20-01entsprechen.
R Parts must confirm to

Rockwell environmental
specification 970-20-01.

CTQ Classification table

Change No.

P =Performance, 
F =Fit, 
A =Assembly
R =Strict conformance

Release No.

106 502
Part No.



Change History (ECR)
VERSION 

NO.
RELEASE 

NO.
CHANGE 

NO.
CHANGE 

DATE
CHANGE 

BY SHORT DESCRIPTION OF CHANGE

00 - - - - Initial Drawing; 29.06.2017, UMO

-

Prüfmasse
Test dimensions

DIR:

Material Master

Surface

Material

Change Date
Changed by

Part Name

Designed

Approved

Scale

Page

10003209311

PN-30796

UMO

JSA

29.06.2017

29.06.2017

-

POC Replacement Mounting Kit

-

-

Standard tolerance

-

-

1:1 DIN A3

4/4

Checked

HAR 29.06.2017

Review processColour
-

Vers.:

00

Confidential and proprietary information. This document contains confidential and proprietary information of Rockwell Automation, inc. 
and maynot be used, copied or disclosed to others, except with the authorized written permission of Rockwell Automation, inc.

R Teile müssen der 
Rockwell Spezifikation
970-20-01entsprechen.
R Parts must confirm to

Rockwell environmental
specification 970-20-01.

CTQ Classification table

Change No.

P =Performance, 
F =Fit, 
A =Assembly
R =Strict conformance

Release No.

106 502
Part No.


	Blatt1
	Zeichenansicht12
	Zeichenansicht13
	Zeichenansicht14
	Zeichenansicht16

	Blatt2
	Blatt3
	Zeichenansicht18
	Zeichenansicht19
	Zeichenansicht20
	Zeichenansicht21
	Zeichenansicht22
	Zeichenansicht23
	Zeichenansicht24
	Zeichenansicht25
	Zeichenansicht26
	Zeichenansicht27
	Zeichenansicht29
	Zeichenansicht30
	Zeichenansicht31
	Zeichenansicht32
	Zeichenansicht33
	Zeichenansicht34
	Zeichenansicht35
	Zeichenansicht36
	Zeichenansicht37
	Zeichenansicht38
	Zeichenansicht39
	Zeichenansicht40

	ECR

